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- Cxcy

2, x'y
N

6'x . 6"y

1) Find out the values of Cxand Cy

cx = 2 Jx 02857
N

Cy = 20143
N

2) Find out the values of ¢ xand oy

2
6x'= \/Z X e - 1532
N

Z fy!Z

3) Find out the value of

2 'Yy o4as
N

. _ 2443-(02857) x (10143) _
(1532 x 1517)

0.92
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2 x'y
N
6'x 6"y

- Cxcy

1) Find out the values of Cxand Cy

Zfo'—_- ~03

cx =

2) Find out the valuesof ¢ xand oy

2
6x'= \/Z L. C?x =274
N

>t
o, = \/—Tv_“ Cy? = 2.769

3) Find out the value of

2 'Y eags
N

_ 8375-(=03)x(-3075)
(274 % 2.769)

= 0878
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